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HEHESE
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TEHERER

No.1
TIT%4 SHOEE KRIIRISE

IfE el #ml RS R B | SU8E | XEHRE | #E

T e+ T i T84 m 110

ERL +HW<1m m 90

EmEEIE m 75

BtT BR{ARET m 5

e T e 5L m 3

EEERT 2 m 20

KEET HiERT il 1200x1000 m 44

it RC40-0,t=10cm m 70

AVIN—hO2D')—1[ 18-8-25BB(W/C=55%TF) [ i 8

R T J 90—k 18-8-25BB(W/C=55%TF) | i 1

B E m 7

Eifs RC40-0,t=10cm m 1

YOI ZAIVN=rT [ RyIZAIIN—=k 1200%x1000 m 1

Ry I 27—k 1200x71000%44] m 0.9

Sk J9U—k 24-12-25BB(W/C=55%HF) | m 2

J0)—k 18-8-25BB(W/C=55%LF) | m 0.4

R B ni 17

Eifs RC40-0,t=20cm m 4

E73:01 SD345,013 t 0.09

EHTEE (& 2

5=k T o250 2 1

VUE $250 m 0.9
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No.2
TIT%4 SHOEE KRIIRIE
IfE ]l #ml RS R B | ARG 1L
IRIZFT/KEE T J9)—k 24-12-25BB(W/C=55%LF) | m 0.7
B E m 4
Eifs RC40-0,t=15cm m 1
$XER SD345,013 t 0.02
BAERIK BRI T a9)—k 18-8-25BB(W/C=55%TF) | i 0.1
B BE m 2
EF
NS EFT EENTLETFT J9—k 18-8-40BB(W/C=60%LLF) | m 3
B E ni 22
Z=UEh SD345,D13 t 0.03
Bt EEEE R i 0.2
J91)—hHIFL $30%% HIFLE300mm | AR 54
J29)—kEDoY i 5
R D {6::5:0)) i 0.2
HHET FhEEHRT A—RL—b Gr-C-4E m 46
PRI INEET =BT e | 25
R e ot 25
TR P ean nt 25
bRy

HWET e AH—RL— Gr-C-4E m 46
BEYEELT SHEERR UM P27 t=4cm m 51
SRR BB B2 727 t=4cm m 25
FRALIE FRI7IVNE m 1
IV )—MEEYEEL sy m 19
rRALIE JoU—h m 19
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1. £T

WEEFEK
&hl HHA! pSTlia) Bfir HE HE

EZELT

i C1 TR IEH m> 109.8

2R B2 THW<Im m3 91.6

EmEIE m? 74.8
+T

B+ B1 m3 4.6

R AIE m> 2.9|c1-@®1+82)/0.9
SEEER T

SRR L1 2 mm m? 19.2




TTEHEE)

FHE C1
Al SREEERE| iR 15 N s i3 LN

3+ 7.6 2.4
3+ 17.3 9.7 0.8 1.60 15.5
INET 15.5

3+ 17.3 0.8
4 + 4.6 7.3 2.7 1.75 12.8
4 + 15.4 10.8 2.4 2.55 27.5
54+ 0.0 4.6 1.9 2.15 9.9
5+ 17.2 | 17.2 2.6 | 2.25| 38.7
INET 88.9
SoKpt-2 5.4
V=1. 55n x 3. 48
=E1i 109.8




TTEHEE(2)

B+ BT BERL B2
Al SEERRE| AR i3 A5 S i A5
3+ 7.6 0.0 2.0
3+ 17.3 9.7 0.1] 0.05 0.5 1.6 1.80| 17.5
NGt 0.5 17.5
3+ 17.3 0.1 1.6
4 + 4.6 7.3 0.1 0.10 0.7 1.8 1.70| 12.4
4 + 15.41] 10.8 0.1 0.10 1.1 1.8 1.80| 19.4
5+ 0.0 4.6 0.1 0.10 0.5 1.7] 1.75 8.1
5+17.2] 17.2 0.1 0.10 1.7 1.9 1.80 | 31.0
INET 4.0 70.9
SEoKy-2 0.1 3.2
V=0. 02rri x 3. 48 =0.97ni x3.48
=18 4.6 91.6




TTEHEZE(3S)

BOREER L1

Al Il F13 s 2 ¥13 s
3+ 7.6 0.0
3+ 17.3 9.7 0.3| 0.15 1.5
INEt 1.5
3+ 17.3 0.3
4 + 4.6 7.3 0.4| 0.35 2.6
4 + 15.4] 10.8 0.3| 0.35 3.8
5+ 0.0 4.6 0.5]| 0.40 1.8
5+ 17.2 | 17.2 0.6 | 0.55 9.5
NGt 17.7
Eok#t-2 0.0
ast 19.2




TTEHE4)

=Rl - A5 pi) Bafyy it E R HE
EmEIE
KB T
m |16.0/10%44.0 70.4
ok KM RDERM LV
i 4.4
=F1l 74.8




2. KET

HEEFR
WA g PSTie) B B8 | #HE

HEEL 1200x1000

12001000 L=2000 m 44.0

Bt RC40-0,t=10cm m 70

AVN\—=ra9)—K[18-8-25BB(W/C=55%LLF) m 7.5
R T 00—k 18-8-25BB(W/C=55%LLF) m 0.9

i) A P m 7.3

B RC40-0,t=10cm m 0.7
YO ZXHIVIN—FT

12001000 L=1868 #t15H m 1.9
TS TS oK

00—k 24-12-25BB(W/C=55%LLF) | m 2.0

18-8-25BB(W/C=55%LLF) m 0.4

i) A =@ m 16.5

Bt RC40-0,t=20cm m 4.4

FXER SD345,D13 kg 88

EEIEE & 2

=t 6250 = 1

VUE ¢250 m 0.9
BB IKES

00—k 24-12-25BB(W/C=55%LLF) | m 0.7

i) A =@ m 4.0

Bt RC40-0,t=15cm m 1.4

FXER SD345,D13 kg 20
BRER K R HET

00—k 18-8-25BB(W/C=55%LLF) m 0.1

i) A =@ m 2.0




2.1 KE&

HEHEE
=Rl R il 7 BAfif E R - HE
TER(T). KEEHEER. KEEEINTFERLY
HERELZ 1200x1000
L=2000 m [8.00+6.00+8.00+22.00 44.0
y {& [44.0/2.0 22
Eit RC40-0,t=10cm m [1.60%0.10%44.0 7.0
AVIN—=hO29)—|18-8-25BB(W/C=55%LLF) [ m |0.17%44.0 7.5
(BrEmA=0.17m(CADX#E))
fHRET
1200%1000 3l 5
JEkR 0.07%0.15
d01)—k 18-8-25BB(W/C=55%TF) | m %%8:2)%116_1250*2 0.9
*5 T
{BIEE (0.15%2+0.35%2)1.15+0.12%1.00
iy A L& m |P9E 0.09%2 7.3
*S T
Bt RC40-0,t=10cm m [0.15%0.90 *5&FR 0.7
My O ZHIVIN—T
1200%1000 L=1868 #ItIH m 1.9
B0 )—k  [#5-8-40BB(W/C=60%LLTF) | m |1.56%0.15%1.87 0.4
iy = TE m |(1.56%2+1.78%2)x0.15 1.0
BEILZIV 1:3 m |1.46x0.02x1.87 0.1
Eit RC40-0,t=20cm m [1.66%1.87 3.1




2.2 Sk

S xE
HH A pSTi) B HE a5t
Sk#t-2
d0—k 24-12-25BB(W/C=55%TF) [ m 2.05 2.0
J9)—=b(A2IN—=F) [18-8-25BB(W/C=55%LLTF) m 0.41 0.4
iy Pl m 16.5 16.5
Eifttp RC40-0,t=20cm m 4.4 4.4
SXERD SD345,D13 kg 88.3 88
EETEE 1 2 2
r—t 6250 = 1 1
VUE $250 m 0.9 0.9




HEFHEE

&5 - ! p - =<1y} i B R e
Sok¥t-2 MEKBHBER (1) (2) (3) &Y
- _ . > |2.00%2.00%1.4 - 1.60%1.60%1.2 -
A2D1)— |24-12-25BBW/C=55%F) | M |§7241.2%1.0 - 0.251.2%1.0 2.05
(jjjl"\é__ﬁ) 18-8-25BB(W/C=55%LLF) | m [1.60%1.60%0.16 0.41
R _— > 12_.231%40*4 + 1.60%1.20%4 - 1.2%1.0 - 16.5
ELREiA RC40-0,t=20cm m |2.10x2.10 4.4
kAEn SD345,D13 kg |s#artiERsY 88.3
BENTEE & 2
. F—LaBg—R
VUE $250 m 0.9




2.3 IRIGFIKER

Bt &
HH5! g By HeE
BUBHTIKER-4
90—k 24-12-25BB(W/C=55%MTF) | m 0.71
By =8 m 4.0
Eifttr RC40-0,t=15cm m 1.4
SKAR SD345,D13 kg 19.5
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&5l - #E A BB ==Liy) it E R HE
IRIZFTKES-4 XIRGFKESEIER (4) LY

(0.250+0.315)/2%1.00%((0.692+0.670)/2)

e = L Fe e e S I
+(0.332+0.354)%1.20/2*0.15 *2
1.024%1.20 + 0.954%1.20

we |m G HIE 40
+0.15%1.20 %2

EHit RC40-0,t=15cm [ m [1.90%0.639+(0.15+0.10)*0.454%2 1.4

£5AR SD345,D13 kg 19.5




2.4 BRSSOk

it %
45! S48 1 G &%
BRER KR it
d20U—k 18-8-25BB(W/C=55%LLF) m 0.12 0.1
R =P m 2.0 2.0
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iz 1| B ]| s =12 i B R =
BEE% /K BR 1 KEREIFEEmB LY
L:0.3m
94—k [18-8-25BBW/C=55%TF) | mi |P:0-1m 0.12
h:1.0m .

yam 2R, R 260

iyl i@ m |(0.1+0.3+0.1)%1.0 *4HFk 2.0




3. EFEHT LT
HEBEEHE
25! ELyall R B | HE e

EENSETFT
d20U—k 18-8-40BB(W/C=60%LLTF) m 3.3
A =i m 22.2
ZUH SD345,D13 kg 32
Bt S E iR m 0.2
JV0U—hHIFL | $ 30K HIFLE300mm £l 54
a91)—hkF2Y m 5.1
ARALIE 0 )—haR () m 0.2




IR iyl ROB Bify iR N HE
EENT EFTEERLY

J9)—hk 18-8-40BB(W/C=60%LLTF) | m [3.97+0.30%0.80 + 12.91x0.30%0.60 3.3

pidly =0 | m [3.97¢(0.80+0.80) + 12.91%(0.60+0.60) + 0.24 + 0.12 22

=UEh SD345,D13 N 54

kg |54%0.597 32

S} EEER MR m |[b0.3xh0.614 0.2

JVOU—MHIFL |#30KHE HIFLE300mm E 7 54

a2 )—kEDY m [16.88%0.3 5.1

RRINIE m |[5.1x0.03 0.2




WERHE

batiball FSTAiA) =213 S
H—RL—IJ Gr-C-4E m 46.0
AEZREAS20F ]
xET Bltf*:‘,’,]%ﬁc’“mEM - m 25.0
FERE t=10cm m 25.0
BERLRCA0-0 )
TERE t=19cm m 25.0




HEHEE

13- 15 I L R HB
iE

A—RL—L  |Gr-C-4E m [8.00+38.00 46.0
18I

®ET BEMHEASZOF 1 i 10.50%50.00 25
rERA 25 ni | 25
TERiE BERARC40-0 m | o5

t=19cm




5.WE&T

HWEEHTE
&R paithall] ST BAfiT = e

BTG e A—RL—)U Gr-C-4E m 46.0
EEYEELT | SERhRTIRT FAI7)Ubt=4cm m 51
SRR AR FAI7)Ubt=4cm m 25

SR IREE FZAI7)Ubt=4cm m 1.0

AsrRx L5 t 2.30

BEYENEL | SKEEEY m 18.7

CorgiL t 47




&R - 407 ys Bafyy it ' R =
FhEEMREZ Gr-C-4E m [8.0+38.0 46.0
e By FRI7IM=4cm m |0.5+50.0+0.5 51
BB FRI7IUM=4cm m |0.5%50.0 25
HEREE FRI7IUM=4cm m |25.0%x0.04 1.0

ASERALSY t [1.0%2.30 2.3
B EEL SIS
MR T-1 m |0.31%(3.8+35.0) 12.0
KEET-2 m |0.71%9.4 6.7
A5t m 18.7
CorgiLy t [18.7x2.5 47




6.1RE% LT

BEtEE
&R - #E 5 I =Ly ' R #HE

tiizimn

TD5%E m |[b1.2xhO0.5x 27| 1.2
R7KEE T

RHEKE RUIFLUE ¢$600 m [FEE)KY 50
KETL

fELIHEK

R H&dn H 18
METRE

MERE St AR W 1
RBFEERE

SEFTER A-B |28 28
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EAEEWENEE

T 5 124 wE || BerE | mEAx | JEEE
PRELT Al
) 110 n 220 0.499 0.883
ER
IR 90 n 33 2.727 4.827
EmEIE
) 75 ni 50 1.496 2.648
THEEMR
IR 3 n 16 0.181 0.321
TREEER
) BEAER 20 ni 140 0.143 0.253
AT AT
44 m 26 1.692 2.995
d20U—k
8 n 8 1.000 1.770
T J20)—hk
1 n 5 0.180 0.319
o7
7 n 15 0.487 0.861
Y2 ZAIVIN—h My I Z2AIIN—hk
1.87 m 5 0.374 0.662
SoKBET J20)—hk
e B 2 n 8 0.250 0.443
d20U—k
N 0.4 n 8 0.050 0.089
R
17 n 38 0.434 0.769
RHETEY). PIER REEE
1 = 1.500 2.655
BTG EPZDE
0.7 n 5 0.140 0.248
o7
4 n 15 0.267 0.472
SXAR
0.02 t 3.5 0.006 0.010
BRERKER TR 22—k
0.1 n 5 0.020 0.035
o7
2 n 15 0.133 0.236
L ARl
46 m 130 0.354 0.626
PRIPIVNRET =RE
25 n 250 0.100 0.177
LRERRE
25 i 940 0.027 0.047
TERE
25 i 940 0.027 0.047
T T R
46 m 250 0.184 0.326
EIELL T
51 m 230 0.222 0.392
EET
25 n 510 0.049 0.087
T
1 n 25 0.040 0.071
20— MEEYEURL
19 m 11 1.700 3.009
T
19 m 39 0.479 0.849
Ean To3%|
1.2 i 5.6 0.214 0.379
HEKEmR
50 m 1.000 1.770
wHE = 77%
{ERMERHAS 28




